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QUIZ 2

1. (2 pt) Consider the statement x ∈ (
⋂

α∈Λ Aα)c, where Λ is a nonempty index set and
each Aα is a set. Copy the following statement and fill in the blanks to make it true:
(for all or there exists) α ∈ Λ, x (in or not in) Aα.

2. (5 pt) Consider the statement x ∈ (
⋃

α∈Λ Aα)c
⋃

(
⋂

β∈Γ Bβ), where Λ,Γ are nonempty
index sets and each Aα, Bβ is a set. Copy the following statement and fill in the blanks to
make it true: (for all or there exists) α ∈ Λ, x (in or not in) Aα (and or or)
(for all or there exists) β ∈ Γ, x (in or not in) Bβ .

3. (5 pt) Let A and B be sets. Prove that A \B = A
⋂

Bc.


